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Please check that this question paper contains 12 printed pages and
2 pages of maps.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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() FIIH-TTH FA22 T |

(i) @ yeT AT &/

(iii) 97 &1 18 7 3id TG-IF0 397 8 | I&P Jo7 1 3% F1 & | JAP Jo7 BT
I 40 Iee] & 3718 787 &1 FET |

(iv) I97 G&I7 8 T 13 TY-F0T J97 8 | JI% Jo7 3 37 #1 & | JIP o7 &7
I 80-100 Y=gl & S7fes 78 &1 T80T |

(v) I G 14 T 20 FH-3ITT 97 & | IAF J97 5 37 FH & | I 9T FT
I 150 s3] & 3718 757 &1 TR0 |

(vi) ¥¥T &1 21 4T T H1 GEEAT 79T 37% 19 lorgd & gafad 8 e
g&IT 22 s el # EfT # 39gE el @ v @ getya 8 | 3%
Y975 3% FT & |

(vii) 3T9H! 13T T fava aur URa & G-l F FTH-YdH & G T
#H |

(viii) IGI-THTE] & 3G & 1070 et a7 2Fqeigd & I791T H1 37al7 & 7l
g/

General Instructions :
(i) There are 22 questions in all.
(it)  All questions are compulsory.

(iti) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(v) Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vii) Outline maps of the World and India provided to you must be attached
within your answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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SECTION A
1. 9Rd § gl st ot fenddt weh & w1 A fafEu | 1
AYAT
AT o Terel T T o1 A foifgn, Stef uftferm sfeaat o€ St 8 1
Name any one area of hamleted settlement in India.
OR

Name any one State of India, where dispersed settlements are found.

2. ‘agrardy fammem @ favemw Hifvw | 1
Analyse the ‘behavioural’ school of thought.

3. 39 ol o 3g@ HIVT, T8 ST=Tid YT o R g YT 37T 2 | 1

AYAT
A o Toh8 TSI | SATIETTER 6l §&1 Ted 31fee g ? 1
Mention the category to which the migration due to earthquake belongs.
OR

In which State of India is the number of in-migrants the largest ?

4. IR 9 I qA1 HErT FdqH F TR T FHI | 1
Differentiate between barren and wasteland and culturable wasteland.

5. ‘Tt aqys’ i STTTT ST Hedtehd i | 1
Evaluate the utility of ‘Golden Quadrilateral’.

6. AU ATHehi (TS hiek) shi T&I famivar shi =me S | 1

AT

‘TNt ga’ 3eg i AT HINT | 1

Explain the main characteristic of professional workers (White Collar).
OR
Explain the term “Technopole’.

7.  OMEH S 1 SURYT g #9017 ? 1

What is the basic principle of ‘Collective farming’ ?
Qs g
SECTION B

8.  “Gum % v 39 % W A # Rl A sne W ) gen ks 2,
Sefer TR e ° i o wen gee Hosrue s 7 17 39 wed #
TR SHITTT | 3
“In Western countries of the World, males outnumber females in rural
areas and females outnumber the males in urban areas.” Evaluate the
statement.

64/41 3 PTO.



10.

‘S IR g % Al TOH TH AR Tew 7, WY SEEn & AR

gitafda grar 8 17 $ae i =rifad 38Usy | 1x3=3
AT

“Urenfies wfd 9 S0 & I TeH § FEET Hi, WAk SHEed gig 3= S

W@ 1”7 YA I RN 38T | 3

“Apart from birth and death, migration is another way by which the
population size changes.” Justify the statement.
OR

“Technological advancement helped in the reduction of birth rate, but
population growth remained high.” Justify the statement.

= feu o gt w1 FrauTigde e i 3T 35es = fer T gt %
I TR 1+2=3

(10.1) TR & far T TeT ) T BT iR s T fRaT |
(10.2) 39 &L i fohal o1 fomiarst < =awe hifsy |



Note :

11.

Study the map given below carefully and answer the questions that

follow :

{/\H?,ZQE [ ]
\ /

J

= Ship Canal

0 10 km /‘// XXX [ailway Line

- === Limit of Canal Zone

A,

(10.1) Identify and name the canal shown in the map.

(10.2) Explain any two features of this canal.

HETfeTiad 397 &ae gIRanfaa qheimiefar & g, 397 a&ar 10 & T W E -

in lieu of Q. No. 10 :
W91 T8 i fohegl oA fomiwaredt sl Tuse Hifr |

Explain any three features of Suez Canal.

“Hehet TSE TEAAT ¥ <l WA T AT & |7 e 1 HoAThA hifg |

The following question is for the Visually Impaired Candidates only,

Ix3=3

Ix3=3

“The Gross National Happiness is the measure of the country’s progress.”

Evaluate the statement.

P.T.O.



12. “uma wrg fafaean S qfi 8 1”7 sem i gfse i | 1x3=3

AT

ORd § I 3 T SHEeaT & g9ed il foheal da-diA fomiwarett

ST hIFTY |

I1x3=3

“India is a land of linguistic diversity.” Support the statement.

OR

Explain any three characteristics each of rural and urban composition of
population in India.

13. = fou mu M@ w1 Itz fifvw i SEes fi9 feur wu gyl % I

fafae

1+1+1=3

Bainkpel

wfew
16 fereft
& @ T wn
] E1D| Yy ©E-3EH

Eleanics
s

(13.1) 39 Ts¥ o1 4 fafae foed 98 e 9 soaa w97 foog 2
(13.2) 39 I & U AT 3 g 37k & Gidi & 9 faifEy |
(13.3) 38 G¥F ! ford Torgra W Tenfuq femam mam o, Tose hifsw |




Study the diagram given below and answer the questions that follow :

Steel Plant To Bokaro
i

v Steel Plant
@ Limestone

¢ lron-ore

\ \ st~ Railway Line

(13.1) Name the State in which this iron and steel plant is located.
(13.2) Name the sources of coal and iron-ore for this plant.

(13.3)  Explain the principle on which this plant was set up.

Fie :  [HElciaga g9 S gIeaniead aheierEr & 077, J97 &I 13 % T R &

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13 :

dH T GO o fJe@ & fou IRt fordl dF wweRl H s
SHifsr | 1x3=3

Explain any three factors responsible for the development of Bokaro Steel
Plant.



WU
SECTION C

14. T¥ed fh8 gd 2 ? 99N H YIEHI ohl IThNd hid oIl Shilehl ohl SITEAT

i | 1+4=5
What is tourism ? Explain the factors which attract the tourists in the
World.

15. “IaUsd SR, TS o U yReufes everRes g1 8 |7 39 HUT Wl

forweyor iR | Ix5=5
AT

“TefiT Tl O e SIS AR T STYR B 17 39 heH o faweryr

HIT | Ix5=5

“International trade is mutually beneficial to nations.” Analyse the
statement.

OR

“The difference in national resources is the basis of international trade.”
Analyse the statement.

16. T Tghl I faehtd HH-Hl W T =l 8 2 HH=q TShi & Hed
3SR Hfgd T I | 144=5

SHYAT

TR & <hl HREIFHEAT A1 Al 9¢H o U 33T W fohedi aTe shedl
3TN fgd saTedn shifre | Ix5=5

Which apex body develops the border roads ? Explain the importance of

border roads with examples.

OR

Explain with examples any five steps taken to increase the performance
and quality of Indian Railways.



17. 9% U T wRisA g TR UMifd § a5 T8 TefieRdret w1 9
T | Ix5=5

AYAT
Tar o fomesfiia g # T afel S fheel aie el auenstt
Fuiq T | Ix5=5
Describe the priorities which have been outlined by the United Nations

Development Programme as part of its urban strategy.

OR

Describe any five environmental problems of urban settlements in the
developing countries of the World.

18. “foem, TH Y Thedl & | IfC Th R 36 WH R foram mn at gu

vl AHATRTh-ATEpideh 3R TGN THeNsTi 1 & &l ST |7 369 A 6
fereeroor iR | 5

“Development is a substantive concept and once it is achieved it will

address all the socio-cultural and environmental ills of the society.”
Analyse the statement.

19. 9Rd ¥ &= & fore /a1 Y 6 =0 ag Wi R 2 el dfgd Tose hIiT | Ix5=5

Why is demand of water for irrigation increasing in India ? Explain with
examples.

20. WM fFE TR I I AN 9 HiY hl AR 6 G TGN T 3 ? T
HITT | 2li2los

2 2
How do human beings pollute the water through industrial and
agricultural activities ? Explain.

64/41 9 PTO.



21. HER % U TC TS {@-AFA (58 13 W), 9 HFTifcish A& hl A,
B, C, D 3t E ¥ fegrn mn 2 | fa=fafgd St i gee @ 31 wgon i

g hITST 3T 3T Tl AT 39oh q1d Tt 18 @nsti W fafan Ix5=5
A, YHE 9HGl 9T

B. AU T 18 UTH

c. wm &

D. Sarl IR &

E. &9%d i gfec ¥ WG i Td o1 o

On the given political outline map on the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
these features with the help of the following information and write their

correct names on the lines drawn on the map near them :
A. A major seaport

An international airport

A Mega city

An area of nomadic herding

= O QW

The largest country of the continent in terms of area

Fie:  HElcirad Je7 Faa giEandaa ghentaat & o, JvT e 21 @ T
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) TR IR & dfvamt qe W oo foreft wh vH@ 9qgl 9o 1 9
ferfay |

(21.2) ATeforan & dfvendt w4 foo fopelt Uoh SFmauisdia g I @ 9™
ferfeT |

(21.3) 3ThIehT o forelt weh T T&dt w1 9 foafam |

(21.4) cfeoft Marg o fedra foreft v aeramedt agemRor &= =1 9m fofEe |

(21.5) CfeJur STHIERT H &% i gfee ¥ HaH 81 o SHH-91 3 ? 1x5=5



(21.1) Name any one major seaport located on the western coast of
North America.

(21.2) Name any one international airport located in the western part
of Australia.

(21.3) Name any Mega city of Africa.
(21.4) Name any one area of nomadic herding in Southern Hemisphere.

(21.5) Which is the largest country in terms of area in South America ?

22. WRA o fU T TSI {@-aHtad (I8 15 W), # Feafafea vimiferss degon
H O faegt grer + 3w el & quiize 3 39 Am fafeu Ix5=5

(22.1) TSRIA H T SHE FHG 97H

(22.2) WA 1A HEWA ol TEATH

(22.3) AT H HIFAI SFIATST TTeh
(22.4) e | TOa oigT TR 3&aTd &9
(22.5) WRA T 91ad HT WUV IcqTgH T
(22.6) G H TG HREH]

(22.7) s & feuq sfeamse i @M
(22.8) 3ITA™ % & H O T

Locate and label any five of the following geographical features on the
political outline map of India with appropriate symbols (on page 15) :

(22.1) A major seaport in Gujarat

(22.2) The Headquarter of Central Railway Zone
(22.3) Software Technology Park in Telangana
(22.4) The iron and steel plant located in Karnataka
(22.5) The leading rice producer State in India
(22.6) An oil refinery in Assam

(22.7) A mine of Bauxite in Odisha

(22.8) The leading State in the field of out-migration

64/4/1, 11 P.T.O.
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Fie:  FHECTRET 397 Fac GIRETEd ghgniaan & o/, J97 G&I7 22 & T T/
& | =gt uiar 71 & 3 forfem |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 7RG ¥ feod wq@ Tl 9o w1 9w fafau |

(22.2) T2 I HSA H1 GEATTT Hal 12Id B ?

(22.3) T H fEd et SISt qreh ol 1 faRaw |

(22.4) e B fooa fopeft ua lrar 9 seura w9 &1 9 feflgu |

(22.5) WRA U 3Uft =Tael IcdTeeh s i AW faIRau |

(22.6) 299 ¥ fedra foreft wep dorene @™ 1 9 faReaw |

(22.7) 3nfesn ¥ feuq sfedmge il @H 1 99 fdfaw |

(22.8) 3T oh &F H UM T w1 AW fAfay | Ix5=5

(22.1) Name the major seaport located in Gujarat.

(22.2) Where is the Headquarter of Central Railway Zone located ?
(22.3) Name the Software Technology Park located in Telangana.
(22.4) Name any one iron and steel plant located in Karnataka.
(22.5) Name the leading rice producer State in India.

(22.6) Name any oil refinery located in Assam.

(22.7) Name the Bauxite mine located in Odisha.

(22.8) Name the leading State in the field of out-migration.
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For question no. 21
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A T T@T-AE A (TSTHITR)
Outline Map of India (Political)
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